180° HOOK AT

END SUPPORTS TILT , | B aTEn e e
U FROM VERTICAL TO L=GREATER OF SPANS  L'=GREATER OF SPANS

MAINTAIN CLEARANCE. L OR L2 L2 OR L3 T —
| | SIZE REINFORCING STEEL
0.25L1 0.30L 0.30L 0.30L . S — O @1 8" . ;
MIN. i - _1-WAY SLAB #axo —0 @18 ) | TOP BARS END STIRRUPS MIDDLE STIRRUPS
\ TOP BARS / TOP & BOT BARS TOP BARS : MARK WIDTH |DEPTH IBOTTOM} - 4 v ! —
FOR TWO ’ OVER GIRDER TOP "W "H” | BARS | LEFT | RIGHT
z ’ PPORTI|SUPPORT

REMARKS

BARS BARS

WAY SLAB 4 AR
i N » E » VV

SIZE | TYPE | SPACING | SIZE | TYPE | SPACING

TTHICKNESS

5

~TEMP. REINF.
OR BOT.. BARS

FOR TWO 71
WAY SLAB

14 2 LAYERS

.Y

“WALL OR way < pa S
BEAM | —WAY SLAB ,

" o 6 SPANNING PARALLEL
CONT. | , NINING
EDGE L4 (END SPAN) | Lo L3 TO GIRDER

BAR

14 T2 TAYERS

CONCRETE

) |

2 LA ‘{g
| 2 LAYERS

BOTTOM

11/2”
COVER
TYP

ﬁ > LAYERS

i

w|ojolslinlolololojoleloGliolololo

wlelmlolsinloleloloje

4\_@3“ 5 ALE: 3/4"= ‘ 7 5

NOTE: SEE BAR PLACING DIAGRAM ON S2-8

sl
b

TOP
ﬂ?&‘ﬁ

il

N
M

JEY
o)

DS2 6

DS3 6 #4@12

il I |ToPaBoT.|

DS5 8

DS6 8 #5@12

DS7 | 8 #o@12

/AN DS8 14 #5@12

ié

* = SEE TOP BARS FROM BAY BEYOND

o @
8" | 8" 1'-8”" 8" | SEE PLAN
[ /

— 7 8-/

~#5 CONT.

WALL—
REINF

- WALL 2—#6
REINF \ T/SLAB

¥ EL SEE PLAN

/——#3«?4 TIES .
. (— -

933 |

L— #3@14" TIES

#4@16” TIES

#4@16" TIES

| 5”% 8" |
|

- 4—§4 |

F{‘}

43@12” TIES

4—1"

3

-
I

3—#7 CONT.—

e ¥ ——— [  #3@12" TIES

, / |
IC. EL. —~

T/CO

SEE COL. SCHEDULE d LE BN

- WALL REINF [ | ;’V“— 4| 4|

(Tve) |  ‘ | I | T

—SEE PLAN
[ ,

90 10

SCALE: 3/4"=1'-0" S3-4|S3-3 SCALE: 1/2"=1-0"  $1-6/S3-3 SCALE: 1/2"=1-0"  S1-6/33-3

[ 4N

SCALE: 3/4"=1'-0 SE——ﬂ:Eij

: SCALE: 3/4"—1

SCALE: 3/4"=1—-0" ~ :§3

Filename: P: \PAPER\CHANGED\JTL\JSPS3-03
"h‘;

#4@127(E) — EL. SEE PLAN

2

{ 7|

FOR OFFICIAL USE OHLY

TWhite

- 500" (E) 445 ()

User:

\__ #4@12"(E)

™~ #3@10"(E) TIES

24
2—-#5 (E) CONT.W/ DWLS. |<
TO MATCH AT WALL.

PROVIDE 2—2x4x6”
SHEAR KEYS IN WALL.

GREAT LAMES, LGS

10/30/97 15:00: 09

EIC BR HD
DIR

detime:

SCALE: 3/4°=1—-0" S3-3|S3-3

OFFICER IN, CHARGE s F
APPROVED DATE

EPOXY COATED BARS

S,

E):

S

(E): EPOXY COATED BARS

NGR. SEAL EFD FOR COMMANDER. NAVEAC SCALE AS MOTED SPEC 06-93—1143




5|D09.5 | DIBS
8.5 | D14.5 E18.5
D15.6 F18.5

9.9 F14 D.4-21 F.7-14.4 F8
1.1 F14.5 F11

D8 E6 E7 E8 D6 C.4~13 C.4—14.1 F.6—14 C17 D17 F9 F9.5 | D18.2 G17 E17 D18 D16 F6 GG—6
D10 E16 £12 ES D7 F.3—-13 G—14.1 F.6—14.5 c18 E20 F10 F10.5 | D18.8 G20 F17 D19 F7 GG—
D11 E13 E10 D9 F6—13 H—14.1 C19 F12 F11.5 | E18.2 F20 D20
D12 , E14 E11 D14 G-13 C20 F13 F12.5 | E18.8 F21 F18
D13 E15 D15 H—13 G18 F15 F15.5 | F18.2 F19
G19 F18.8 F18
F19

~J

w
[da)
wﬂ
—
on

SLOPE

Srd FLOOR

\‘E ARING
PLATE
10"x117x1 /2

TO DRAIN AWAY FROM

TO EL.100'-0".
COLUMN.

" ENCASE BASE IN CONC
F16

2nd FLOOR

TS |12x12x1/2

sce 4

W12x40

1st FLOOR
EL. 100'-0"

SC11+ U.N.O.

SC12 (M) — F.6114.4
]
TYP. UN.O. N1 26"

SC12 —|F.6-14.5

C17,C20

SC9

SC11
8 — r20]

C18,C19,
SC2 — F21

Lo

BASEMENT

SC6 — F17

TSC7 - E17|

SC12
SC1|TYP U.N.D.

sca 4
SC2 4

“~NOTE 4

BASE PLATE 12"x12 1/2"
(BxNxt) 14"x147%1 3/47 | 16"x167x1 3/4” | 18"x20"x1 3/4”| 18"x20"x1 3/47| 12"x14"x1 1/4" | 12°x14"x3/4" x3/4” 14"%14"x1 1/47 | 12"x147x1 1/4" | 12"x14"x1 1/4" | 12"x14"x1 1/4” - 12°%14"x1 1/47 | 12"x14"x1 1/47 | 1471471 1/4” 12"%14"%1 1/4" | 147x12"x1 1/4" | 14"x127%1 1/4" | 1270471 1/4" | 127x147x1 1/4” | 14"x14"x1 1/4" | 14"x20"x3/4" | 12"x14"x1 1/4"

] (GALV)

GALV
SEE SEE SEE SEE SEE ANCHOR SEE SEE SEE SEE SEE SEE SEE

NOTES DETAIL 2 | NOTE 1 NOTE 1 NOTE 1 DETAIL 2 BOLTS DETAIL 2 DETAIL 2 | NOTE 1 DETAIL 2 DETAIL 2 DETAIL 11 | DETAIL 2
& NUTS FOR 667

ENCASE BASE PLATE IN CONCRETE AFTER POUR.
SEE S3-3 FOR CLOUMN TYPES SC6-SC10.

BASE PLATE. /a\

COLUMN E16 IN CONCRETE.

NOTES:

B o =
"
.

CURTAIN
WALL

TYP.
F.14,
F14.5

WALL G ——1 = REINF.

}—11 "1 REINFORCING

~1 1/4"NON—SHRIN
| HIGH STRENGTH
| GROUT

T /%}f@. SEE PLANS
FOR LOCATION

CONCRETE ~
ENCASEMENT %,

AFTER STEEL |
PLACEMENT ™

4-7/8"¢ THREADED
ROD ANCHOR BOLTS
W/3—#3 TIES [
ON 67"x6" PATTERN

HEX NUTS & WASHER

/TACK WELD
NUT TO ROD

SEE SCHEDULE

FOR SPLCE
LOCATION

(TYP) , TACK WELD ~_
NUT TO ROD~

Filename: P: \PAPER\CHANGED\JTL \JS%?SE" 04

SC4

FOR OFFICIAL USE ONLY

User:

g3@16” /

REAT LAKES, ILLINOIS

TES

10/30/97 15:02: 27

ptime:

SCALE: 3/4"=1"-0"

ARCH. & ENER. SEAL




Filename: P: \PAPER

TWhite

User:

30,/97 15:04: 32

: 10/

b ROOF LEVEL

3rd FLOOR

2nd FLOOR

1st FLOOR

SCALE: 3/32"=1"-0"

W10x22

BEAM SHEAR
CONNECTION
SEE 2/53-6

1/2” GUSSET R

ROOF LEVEL

N 3rd FLOOR

b 2nd FLOOR

7/8'¢ A325-SC BOLTS

o0

1

|
|

|
|
|

|

oo

. 2

™%

7/8"® A325—6C BOLTS—

@ 1 6x4

1/2”

$1-8,

oo |

SCALE: 3/32°=1'-0"

et

PLATE

St-gfs3-s

|

17'-0" ,}

-

|
|
|
|
|
|
|
|
|
|
|
|
|

SC;&LE‘ 3/32?$m,§?~$2

\— L4x4x5/16 W/

- 3/8" GUSSET

2 BLTS EA. END

(TYP.)

GIRT LINE

I 4x3x1 /4
(£15K)

BRACES

| b— GIRT LINE
/” TS8x8

,g_éz

¢ GIRTS

@ COL. LINE

!527%55




o

7/8"® A325 BOLTS

~ 7/8® A325 BOLTS | 7/8°9
SEE TABLE FOR NUMBER TYP, =

5/16" PL.

\“fé PROVIDE FULL DEPTH PLATE I
T WHERE BEAM FRAMES INTO : I
- | PERIMETER SPANDREL BEAM

) - FULL DEPTH TOP PL.
N BOTH SIDES OF WEB |
<  TO MATCH BEAM FLG.

W14 OR

W8, W10

1/4 1V

5/16”" PL. BOTTOM PL. BOTH

SIDES OF WEB TO
MATCH BEAM FLG.

W12, W14

5/16" PL.

5/8 Pl W16, W18
W21 ,
w24 | 6 63k

PL. w27 7 | 76k

o

B o e e

N

1/4 V" 2/3 COL. DEPTH EXCEPT i | |

i NOTE: USE DOUBLE ANGLE CONMNECTION  WHERE SAME DEPTH BEAMS | Lk o W30 USE DOUBLE

(L1 1/2" FOR Wi6 OR LARGER. DOUBLE ANGLES  MOMENT CONNECT ON 11/ | ANGLE CONN.

MAY BE USED FOR W14 OR SMALLER OPPOSITE SIDES, PROVIDE o NOTE: DOUBLE ANGLE CONNECTIONS WITH CAPACITIES GREATER
UPON REVIEW. FULL DEPTH STIFFENERS /2 THAN OR EQUAL TO THAT LISTED IN TABLE MAY BE USED IN

| PLACE OF A SHEAR TAB CONNECTION UPON REVIEW.

100K

SCALE: 1"=1'—0" | SCALE: 1"=1"—0"

— CURB
SEE 5/S2—1

O

REINFORCED
MASONRY
SHEAR WALL

N GRATING

(e
~
o

==

4—3/4"9 STUD x6”

|
T/STEEL ﬁ«—__
¥ ROOF LEVEL'

‘ |
T/STEEL %i,_w__j

TYP.

LBx4x1/2x4"
W/ VERTICAL LONG
SLOTTED HOLE

T/GRATING

"
=
[

LB8x4x1/2x4"
W/ VERTICAL LONG
SLOTTED HOLE

ot

L3x3 CONTINUOUS

DISCONTINUE AT
BEAM CONNECTIONS

h ’ ’ | i . Y
R 3/4"x8"x10" @W8 3-SIDES ), Y27 / | 4-5/8"¢ STUD x6
R 3/4"x8"x1'-2" @w

1‘ e R 5/16%3”;{5"/ N | R 3/4"x8"x12" é 3-SIDES
|

OR Wiz~

3=SIDES ) —

L 5/8¢ S.S. EXP. ANCHORS

4” FROM EACH END AND
16" 0.C. MIN,

CONCRETE WALL

7/8"6 A325 BOLTS ‘ ,.
IN SLOTTED HOLES . FOUNDATION OR CONCRE TE 3/4"% ANCHOR |
2 BOLTS IN W8 TANK WALL COLUMN BOLT @ 2—4" 0.C. ~
3 BOLTS IN W12 A | N

BOND BEAM

BOND BEAM
W/ 2—#4
HAND TIGHTEN. NICK / REINFORCED MASONRY / \
THREADS OR TACK WELD SHEAR WALL .&

HAND TIGHTEN, NICK THREADS
OR TACK WELD

/100

o

S1-5[53-6

,g??

SCALE: 1"=1"-0"

SCALE: 1"=1'-0" $1-8

ERECTOR TO DEVELOP
WELDING PROCEDURE

% e ‘
/ |4 TO AVOID SPALLING égg 8" | 8"

CONRETE T CRACKING OF CONC
"" | 3/4" STUDS
EMBEDDED R — | SLOTTED HOLES o
) ™ / /"IN SHEAR PLATE

- | | ) i USE DOUBLE ANGLE SEE 5 / S2—-1—4
A X ’ STUDS 3" FROM—T1—
Sars 16— | ol =

CONNECTION
TO W12 BEAM
§G£&Lv) ~§.. S e B/j@ﬁsﬁxgﬁ STU{}S"}
. .9. - {%Z; Js% G'C‘ ‘ /

O L4x3x1/4 LLH
| \\. BOTH SIDES OF TUBE
3/4"x6" LONG ——1 |  NOTE: | }
HEADED SHEAR - BOLTS, WELDS & B TO f
|
|

\W

@ 32" 0.C.

| > EL.111°—8"

— TS5x5
' [~ 3/8"x5"x11" P
Ls W — J i

— W14, SECT.14A —
w8, SECT.14

W12

e

 L4x4x1/4

STUDS. SEE EMBED i DEVELOP SCHEDULED BEAM
PLATE SCHEDULE ’ REACTION AT FULL ADJUSTMENT

NGED\JTL\JSPS3—06

SCALE: NONE

Filename: P:\PAPER\

.

3/4"x12"x1'-2"
£
3/4"x8"x10"

ite

FOR OFFICIAL USE ONLY

W10 COLUMN

NATE Ok /0%

User:

4—7/8"0 g i

B 1/2"x10"x11”

LTS

FOTHE Havy Ha

I 1/2” PL (NEAR SIDE)
I~ R 1/27x14"x14”

7 15:06: 60

SOUTHERN

4

TRAINING CENTER GREAT LAKES, ILLINGIS

W30

10/30/9

BR HD

f SPEC 0B—93— 1142

ARCH. & EMGR. SEAL l




2" 0.C. TYPICAL

WELDED WIRE FABRIC. SEE -
COMPOSITE STEEL DECK
HEDULE.

¢ OF BEAM T ——— e —

. CTION ',
—0" ® 12"
WE F

B " ; -

CONC. MAX
NEIGHT REMARKS 1 CLEAR
SPAN

SEE PLAN FOR EDGE T s
OF SLAB DWENSION | i

SLAB |  DECK PF

REINFORCEMENT

‘i//gu R
RETURN

1-1/4" CLEAR | , ' 3/4” CLEAR

- I
e iet, 2nd, 3rd FLOOR *
1 1 | COL LINES D TO E '

*'i I I 1 1 t 1 1 1 .
— co2 | 11/2 31/2 5 20 0.190 | 0.220 6x6—W2.9xW2.9 115 | st 2nd, 3rd FLOOR

| CORRIDOR s 72" 125

312 | 5 18 | 0280 | 0310 | exe-w2.9xw29 | 115

T/STEEL
EL. SEE PLAN

IF

. g DA, Lfﬁz};ﬁxl' »f 3 g 5 ; ‘
?/2, e ? Ui 2;{‘? | Cb3 11/2 2 g /:iQ/QTO 4 TO 1 18 D.280 0.310 BxB—W2.9xW2.9 115

. POUR STOP T 1 T 1 | 1

)" < A" < =17 | cpe | 112 31/2 5 1 18 0.280 | 0.310 Bx6—W2.9xW2.9 115
PLATE+12 GA. POUR STOP I ! | . i 4 1 ;,
WHERE 1'-1" £ "A” g 1'-4" | eos | 3 2T021/2/57051/2] 20 0.950 | 0.570 | 6x6-W2.9xW2.9 | 145
AND DECK PARALLEL TO BEAM. 1 | . i | | I

1/2°] w6 | 112 | 2172 | 4 | 16 | 0370 | 0400 | ex6-w2.9xw2.9 115  |ENTRANCE CANOPY 10'-0" 100

NG SLAB i 7-6" | 100

L

rd FLOOR 7=-2"
MAGE CONTROL TRAINER

SHEAR STUD

SHAPE BEAM PERPENDICULAR
TO COMPOSITE STEEL DECK SPAN —

R DECK o ,
AGE CONTROL TRANER | 60 125

BEAM

. = : :
: | / 21/2 70 | 08 | 18 580 | 0.310 | Bub_wo owws | | ROOF OVER e
7 | 11/2 12 | 470 18 0.280 0.510 | 6x6-W2.9xW2.9 | s | DAMAGE CONTROL TRAINER 7-6 100

: 1) SINGLE SPANS SHALL NOT BE USED.
2.) ALL WELDED WIRE FABRIC SHALL BE

e

SCALE: NONE

SHEETS PLACED ON CHAIRS.

L3x3x1/4

2=0 | -8 FORMED EDGE.

(TYP) MAXIMUM CUT STEEL DECK
OPENING AFTER CONCRETE

HAS REACHED A
COMPRESSIVE STRENGTH
OF 3000 PSI

¢ OF BEAM

#4 CONT

Y

% /
3-6" LARGER THIAN /1"~1"

#4 @2 3;

SEE PLAN

\' 126A POUR STOP

- @4y 30" TOP
AT ALL CORMER I
COLUMNS, E

P. AT ALL
PERIMETER COLUMNS,

\— CELL CLOSURE

L- 2-#5 EACH SIDE.
LOCATE SIDE BARS
BELOW TYPICAL
SLAB REINFORCEMENT

v’%

s

"SCALE: NONE

——— COORDINATE W /METAL
FABRICATIONS FOR
HANDRAIL

| UNIFORM STUD SPACING |

RM_STUD _SPACING

STUDS @ 18" O.C.

/""““‘“‘“"" 3/4"@®x6" HEADED

| il

SEE ARCH DWGS

& 5/82-1

TRENCH DRAIN
SEE PLUMBING
DRAWINGS

K METAL DECK

L 3x3x1/4 /

ADD

N/2 | STUDS | N/2
SEE

y NOTE 3 |

D— L8x6x3 /8

e e L _ CUT VERT. LEG

~1 .a N L3x3x1 /4 <
7 18 | _L3x3x -1 1/2°METAL DECK

PROVIDE TOLERANCES
FOR ARCH. EXPOSED
* STRUCTURAL STEEL

(AESS)

l

!

i ‘ |
A

NOTES:

P~
©
!
)

1. W EQUALS THE HU
ON PLAN.

BER OF SHEAR STUDS PER BEAM INDICATED THUS (20)

SPACING STUDS SHALL BE STUD SPACING EX
PROVIDE A 5/8" PLUG WELD BETWEEN STUDS.

S1-6(S3-7 SCALE: 1 1/2" = 1'=0”

12" 0.C.,

FOR GFFICIAL USE oMLY

User:

08/31/94 10: 36: 52

ne:




5

10 SPC's @ 2'-0" = 20'-0"
20°-0 1/27 OUT TO OUT (TYP.

LEINOIS

GREAT LAKES,

DIVISION

RAVAL

“SOUTHERN

il St N i A
=1 = Qll =1 Qll Qi
S TSy ¥ Iy T R T i P | M| N 1 | —

ssssssssssssssssssss OLXBM |

TYP.

5 7

~1/4" STL. B
- SOALE %;’%ﬁ%?i’w” c -

5
TOP SIDE
UPPER DECK
LOWER DECK
i

i

C
S3x
TYP

m
_
el f
|

. 04 i 0d |

bate -

P.)
/A

M MEMBER TITLE

20"--0"

£
| APPROVED

FOR OFFICIAL USE GHLY
EFD FOR COMMANDER, NAVEAC

OFFICER [N CHARGE

APPROVED

FIR
EiC
FP

S 61 9. ¢ |
Bl Q| = QM

10 SPC’'s @ 2'-0"

—_— Ul

0-G1 0-GlL
(dALl) LNO OL LnO ,Z2/L 0—,0%

L0008
<

—
©
N
)
=
N

<

3 &

2%

S3x5.7 RIBS

EXTERIOR HANDLE __J
1/2"9 BAR 3 SIDES —
0

(TYP)

R

w1 S3x56.7 RIBS

gi}im DS?

10 SPC's @ 2'-0"

4
i

3
84:j§§i1

o
=52

54

= 20'-0"

Bgim@ﬂ?

10 SPC's @ 2'-0"

1 = : WM.WHHHHHHHHH%“H“%
=Y 12 0d

—————| GIX8M _ I
=== —F = =g ===

=3
QI =4 wﬂu:

N
£ L ,,.,

I 1

@
\

S3x5.7
P
N
3
H
H
I
H
H
I
H
I
I
T
Il

CALE: 1/4
S ‘
\NTYP.

55

©
;
o
©
<
S3x5.7 R
©
K
3
o
R
&

1/2"9 BAR 3 SIDES -

EXTERIOR HANDLE
(TYP.) 3{}?3[

S

4
RIBS
1/4" STL B

1 $3x5.7 RIE

8S

S4x9.5 RIBS
TYP.
S4x9.5 Rl

TYP.

~1

—1/4" STL. R

¢

41

D

S4

S3x5.7 RIB
TYP.

|
|
ﬁ

SEE ARCH.

20'-0"
DWGS.
L

30'-0"

— HATCH

m{}ﬁ

¥

10 SPC’'s ® 2°—0" = 20'-0"

i
T T T T A R

SEiELE
W I

S3x5.7 —

10 SPC’'s @ 2
S4-1[S4-2

| m g

1°

s

DWGS.
o
!

0-7 ] 0-f T .0-c 1 .0-¢ lo-2lo-2 .0 | .0-€ .01 .0-¥

0—.0¢ " 0—-.6 0—.6

a@ E»@

LO—¥SdSP\ LM\ GIONVHI\¥3dVd\ 'd 2wDuaji 4 L0 GLGL L6/0E/0L




I

o
.
"

Filename: P: \PAPER\CHANGED\JTL\JSPS4-02

MMJV

—3/16" STIFF. PL. 1/4" PL.

N /
316 V1 1/27@12" N /

3/16V /  W8x10 CONT.

1/4" PL.

S3x5.7 RIB TYP. PL.

- 3/16 V1 1/2°@12”
3/16V

S4x9.5 RiB

/AP

o ___/ WATER
T3ne VT NTIGHT

< WATER
316 NTIGHT

~/ WATER TO RIB 7 3/16 71 1/27@12

LV /736l 3/18Y N
W ~1/4” PL. N

£

N 17
Sy 3/16
/16 N TYP. PL

18 pL. \_ Sh6.7  3/167711/2°@2">TO RiB
T RIB

sgiggng

- NI/47 P
RIB

— R 1/2"x4"x0'—8" EA.
S3x5.7 W/2—1/2"9x9"

2 AN ¢ TYP. PL T
7 3/16 V1 1/2°@12"> TO BEAM

36 V1 1/27@12

3/16" STIFF. 9@.\
1/4" PL.

K

—

S3x5.7 RIB

SCALE: 1"=1'-0" S4-2/S4-2

WATERN
TIGHT 7~ 3/16 V7

1/4" PL.

i

s

3/16 V1 1/27@12 I
S4x9.5 RIB

/
% {
e i ;

4~0 1/4”

/~1.3x2x3 /16 p— iy | o :

:&& OU mg
!

& CONT.
Z
i
o
E

FULL PENET.

1/4” N WATER TIGHT

,§§w§9?

44@12" E.W. — &

cROUT / ’
1/47x4" (GALV.) P ﬁ
CONT. / /8

3/4”x4” HEADED—/ | T4
STUD 2'-0" 0.C.
(GALV.)

FACE OF
PIPE SECTION

TYP BEHIND ~\

12" STEEL

PIPE
. L ;&NGE J

; FOR CUT-OUL.  \
S4_olsa_o PATTERN @ (12) —

S4-2/54-2

12,123\

%

N.T.S.

o CUT-0UT R
PATT 7
SHOWN PIPE SECTION

P

T ‘ .1/‘/4&5 :‘:}L‘

S3x5.7 RIB ,.j %
‘.

S

s 3;"!“’5L’/

) /____57___< WATER

1/4” PL. i, |

1/4"x4” (GALV.) R -
CONT.

3/4"x4" HEADED
STUD 2°-0" O.C.
(GALV.)

RN AS FACE OF

PAT
o

BEHIND

TOP SIDE

S st

WBx10@24 ™~ |
W8x10@36™ ||

=

WBx1 @24
WBwx 1 0@ 3¢

3331 5. 7@36

SCALE: 1/4"=1'-0"

A
OUT TO OUT A!/ L8\

S % C WATERTIGHT

- R 1/47

- RIB PER PLAN

R 1/4"

N WATERTICHT
L 716 é/ﬂ«i 63/2”@?2” \%ﬁTtRTing

RIB PER PLAN
ﬂé\\

S4-1[54-2
M

JOINTS IN PLATE PERPENDICULAR TO BEAMS OR RIB
SHALL BE FULL PENETRATION WELDED. TYPICAL FOR
PLANS AND ELEVATIONS SHOWN ON S4—1,

AS

FOR OFFICIAL USE DMLY

s i
SOUTHERN DI

CHARLESTON, S.C.

NAVAL TRAINING CENTER , GUEAT LAKES, HLINOIS

ARCH. & ENGR. SEAL




Filename: P: \PAPER\CHANGED\JTL\JSPS4-03

TWhite

User:

10/30/97 15:19: 02

fetime:

—— §5@24"

SEE 5/S4—3 FOR
/ REINFORCING

%#ﬂ?

T

L 7x4x3/8 CONT.
W/3/4"9x9" A.B.@24"

BOND BEAM

8" CMU—/

SCALE: 17=1—-0" S‘Iﬂﬁ%«lﬁ

BOND BEAM — R

JL4x4x5/16x0"—9” M14

w/4-3/4"e AB. N T8 CMU

5

oo
o

MU

CURB AT — =
COLUMNS

—— DOWELS TO MATCH
CMU REINF.

=
oo
2
-
q W

——#4 CONT.
_T/SLAB

N SEE BEAM &

SCHEDULE

SLAB

"=1=0"  S1=6|S4-3
S B

NOTE: SEE A9-6 FOR ADDITIONAL INFORMATION

'SCALE:

ON TRAINER AND CURB DETAILS AT DOORS.

14 GA. BENT B

b4

X

X
I

//
/

L4x4x5/16 CONT.

N

— #5@24"

BOND BEAM

| N—8" cmu

| TRAINER STRUCTURE
SEE S4—1

14 GA., GALV.
BENT P

CONCRETE CURB |
SEE ARCH. DWGS 51

AND 5/S2—1

o

s

BOND BEAM

Ci12

/7P

R 3/8"x3"x0'-8 1/2"
W/2-3/4"8 A325 BOLTS

“— LBx4x1/4x1'-0"
W/2—3/4"9x12" A.B.
TO CMU

il

S1-7]s4-3

kad

Q| IL4x4x5/16x6

L iredesmeee e seerse e

'SCALE: 17=1'—

2—#6 CONT.
N FULL DEPTH BOND BEAM —

JLax4x5/16x6" W/
, 4-3/4"¢ A.B.
— 8" CMU

eox
(1

N— REINF. SEE

S4-3|54-3 AL\ 549

\— BOND BEAM

10

SCALE: 17=1"—0

5112§§~3

1. PROVIDE BOND BEAMS BELOW CONCRETE SLABS AND
ALSO AT MIDHEIGHT OF WALLS (EL.104'—0" AND
EL. 113'—0"). REINFORCE BOND BEAMS WITH 2#4 CONT.

2. VERTICAL REINFORCING IN CMU WALLS IS #5@48".

3. REFER TO A8-3 FOR MASONRY NOTES AND TYPICAL
DETAILS.

nge
o

1= O
" CMU WALLS

L_2—44 L__| CONT.

'SCALE: 17=1'-0" S1-7[S4-3

BTWN. WALLS

AT/

\Lf

Fon OFRICIAL WISE oMLY

CGREAT LAKES, LLINOIS

| | NAVAL TRAINING C

DATE

| COMSTR CONTR HO. |

“Sour AS NOTED | S

oy
4



	B-510 _20130424_0017
	B-510 _20130424_0018
	B-510 _20130424_0019
	B-510 _20130424_0020
	B-510 _20130424_0021
	B-510 _20130424_0022
	B-510 _20130424_0023
	B-510 _20130424_0024
	B-510 _20130424_0025
	B-510 _20130424_0026
	B-510 _20130424_0027
	B-510 _20130424_0028
	B-510 _20130424_0029
	B-510 _20130424_0030
	B-510 _20130424_0031
	B-510 _20130424_0032

